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Class - IX
MATHEMATICS
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YT : 39 31, T Afreram o :

Total No. of Pages :
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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each.

The value of 14&/272 equal to :

(A) oY% B 27° © 2%

One of the factors of (16y>—1)+ (1 —4y)? is

(A) (4+y) B) (“-y) (© (@y+1) (D) 8y

In APQR, £P=60° and £Q=50°. Which side of the triangle is the longest ?
(A) PQ (B) QR (©) PR (D) None

The co-ordinates of the point which lies on y-axis at a distance of 4 units in negative direction
of y-axis is

(A) 0 4 (B) (4 0) © O -4 (D) (-4, 0)

In AABC, ZC=ZA and BC=6 cm and AC=5 cm. Then the length of AB is

(A) 6cm (B) 5cm (C) 3cm (D) 25cm

Which one of the following is an irrational number ?

(A) 0.14 (B) 01416

(©) o0.1416 (D) 0.4014001400014

The semi perimeter of a triangle having the length of its sides as 20 cm, 15 cm and 9 cm is :

(A) 44 cm (B) 21 cm (C) 22 cm (D) None
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Which one of the following statement is true ?

(A) Only one line can pass through a single point.

(B) There are an infinite number of lines which pass through two distinct points.
(C) Two distinct lines cannot have more than one point in common.

(D) If two circles are equal, then their radii are not equal.

In fig. 1, if m|nand Za: £Zb=2: 3, then measure of Zh is

Fig. 1
(A) 72° (B) 108°

If fig. 2, measure of ZABC is

A
40°

(C) 80°

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Let ‘a” be a rational number and ‘b” be an irrational number. Is ‘ab’ necessarily an
irrational ? Justify your answer with an example.
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12. Infig. 3, find the value of x.

A

Fig. 3

Simplify : {5[8% + 27%)3}%.

In AXYZ, YO and ZO are the bisectors of ZXYZ and ZXZY respectively of AXYZ. If
£X=62°, LXYZ=54° then find ZOZY.

Evaluate using suitable identity (998)°.

In fig. 4, ACBD is a quadrilateral with AC=AD and AB bisects ZA. Show that
AABC=AABD. What can you say about BC and BD ?

C

D
Fig. 4

Factorize : x2+3+/3 x +6.
Factorize : (x*+4x2+3).

Find the area of an equilateral triangle with side 10 cm.

940111 - C1




SECTION - C

Question numbers 19 to 28 carry 3 marks each.

Represent /3 on number line.

Determine whether the indicated numbers are zeroes of the given polynomial ?

2 =2
() gx)=3x2-2; = BB

(i) f(x)=x>—6x2+11x—6; x=1, 3.

In fig. 5, ray OS stands on a line POQ. Ray OR and ray OT are angle bisectors of ZPOS and
£5S0Q respectively. If ZPOS=x, find ZROT.

o)
Fig. 5

OR
In fig. 6, if x +y=w+z, then prove that AOB is a line.
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Factorize : x6—1°.

In right triangle ABC, C=90°, M is midpoint of hypotenuse AB. Cisjoined to M and produced
to a point D such that DM =CM. Point D is joined to point B. Show that

i) AAMC=ABMD (i) «£DBC = ZACB

2
If x=1—-+/2, find value of [x — ] .
x

OR

If a= g_ V5 db= 3 hda

+ 5 3-5

In fig. 7, PR > PQ and PS bisects ZQPR. Prove that ZPSR > ZPSQ.
P

_ P
Show that (0.235 can be expressed in the form a, where p and q are integers and q= 0.

In AABC, BD and CE are two altitudes such that BD=CE. Prove that AABC is isosceles.

If both (x—2) and [x—%) are factors of px?+5x+1, show that p=r.

OR

Find the value of a if (x+a) is a factor of x*—a2x2+3x —a.
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SECTION - D
Question numbers 29 to 34 carry 4 marks each.

29. Factorize : (a) 4a%—9b2—2a—3b.
(b) a2+b2—2(ab—ac+bc).

30. In fig. 8, if AB||CD, EF L CD and ZGED=126°, find ZAGE, ZGEF and ZFGE.

< 1 1 »
<% T T Ll

D

'\126°
E
Fig. 8

Prove that the sum of angles of a triangle is 180°.
OR
Prove that if two lines intersect, then the vertically opposite angles are equal.

If (x+y+2z)=0, then prove that (x3+13+2z3)=3xyz.

In figure 9, the sides AB and AC of AABC are produced to points E and D respectively. If
bisectors BO and CO of ZCBE and ZBCD respectively meet at point O, then prove that

/BOC=90°— % /BAC.

A
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In fig. 10, AB is a line segment. P and Q are points on opposite sides of AB such that each of
them is equidistant from the points A and B. Show that the line PQ is perpendicular bisector
of AB.

34. Plot the following points in the Cartesian plane.

A(5,0);B@3,2); CO, —5); D(—6,1); E(—4, —4); F(2, —3).
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U9 WEAT 1 | 10 9k Uk U9 1 3k AT gl

432 FMARR :
A) % (B) 27° © %

16y2—1) + (1 —4y)? & TH HEE T
(A) (4+y) (B) (“-y) © (“4y+1) (D)

APQR ¥, ZP=60°deM £Q=>50°. APQR & - H s TaId ALl T ?
(A) PQ (B) QR (©) PR (D)

39 forg T y-2187 1 %01 fown § 4 Uk g0 WE, F Fdenk 7
(A) 04 (B) (4 0) © O -4

AABCH, /C=/ZAdIMBC=6cm dAMAC=5cm | ABHI T=&E ¢ :
(A) 6cm (B) 5cm (C) 3cm (D)

frefafed 9 9 =9 @t iy gem 2
(A) 0.14 (B) 01416
Q)  0.1416 (D) 0.4014001400014

B’Hﬁﬂa, IERED YSe 20 cm, 15 Cmﬂm9cm%, hl aéwmq%:
(A) 44 cm (B) 21 cm (C) 22 cm

frfafed @ @ =9 91 T FoH 79 €2

A) T foag @ hael T @1 & ST el 2 |

B) @ fum fier forgail @ et St o171 YT Wi S Fehell & |
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AP -1H, AR m|nB AN La: Lb=2:38A LhHAHAT :

AR - 1

[

(A) 72° (B) 108°

10. 3MHfd-2H, LABCH UF R :
A
40°

100°
= >
TR - 2

(A) 60° (B) 70° (C) 80°

s -'q’
Y9 HE&AT 11 ¥ 18 Tk Uk U9 2 3{h T gl
11. 91 ‘a’ T IRHT G&A1 § 991 ‘b’ Teh AIRHT &1 § 1 “‘ab’ AfTemddr T 1afds gemn g ? 31
IR F AT TH IS0 TR 39HT SAifae < |

12. 3THd - 3 H, x T HH F1d HifeC |

A
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{5(8% + 27%)3}% %1 T IS |

AXYZ ¥, YO AU ZO HHT: £ XYZ A9 £ XZY & FAfgHiah 81 Ife £ X=62°, £/ XYZ=54°% 01
Z0ZY @ HIf |

Teh IUGH HeHTHHT 1 GART Tk (998)3 1 HH 1T HITST |

3TMHfd - 4 § ACBD T 9qqs © fS9H AC=AD @91 AB, £ A &1 SufgHIfea ®dt g1 <9 fo
AABC=AABD | 379 BC A1 BD & fawa # a1 g ¥ehd ¢ ?

D
TR - 4

x2+3/3 x+6 % TGS HIFT |

(x4 +4x2+3) & TUHEES HIT |

10 cm [T STelt Teh GHETE 1 1 Shet T HIfeT |

@ue - ‘|’
U9 GEAT 19 W 28 TF T&ldh UIT 3 3k T €
J3 F F& W W) g i |

T HifTe fof @2 § T x F A 9gus! % YR § steren TE 2

2 =2
(i) g(x)=3x2—2; x = ﬁ/ ﬁ

(i) fx)=x3—6x2+11x—6; x=1, 3.
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21. 3THf -5 H T fHor OS W POQ W @l § 0 OR den OT %9 L POS T4 £SOQ &
THfgaei €1 afe LZPOS=x? @ LROT 1@ Hife

@)

SPTd - 5
3teraT
AHfA - 6 7 I x+y=w+2z , A fag FifSe fF AOB T @ 2|

ST - 6

22. x0—y° % UFEE ST

23. TH FHH 3 ABCH, £ C=90° | & AB &I A=A MBI CH M | e D T 39 TR
e T € fF DM=CM ®1 D =i B® fiemn mn &1 gwise f

i) AAMC=ABMD (i) £DBC = ZACB

24. Erﬁ;'x=1—ﬁ,?ﬁ(x_l)2 1 T T RIS

X

YA
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Wﬁ‘{a=%%ﬂ9ﬂb= gi \/g 2 A a2— b2 M J1d HifST |

3Tfd - 7 B, PR > PQ AT PS, Z QPR 1 THGYSH il & |
fag =ifse f& : ZPSR > £ PSQ.
P

S

i - 7
[ IHEED 0,2_35ﬁ%%wﬁwmmm%aﬁpamqw?ﬁaquo%

A ABC H, BD @211 CE 31 T8 3fivda € ff BD=CE ® | fag ®ifSt fF A ABC U wHfgarg feqs 71

IS (x—2) (x—%j ERICEEE px2+5x+r?f[Ul'—|'@‘_5’%, Fﬁ@@ﬁpzr%l

AT

A (x+a) TGIT x4 —a2x2+3x —a F HEE ¥, @ a FT A9 0 HISC |

Qg -'e’
Y99 GEAT 29 W 34 F UAF I 4 31k T T
UGS I :
(a) 4a2—9b%2—2a—3b.
(b) a%+b%2—2(ab—ac+bc).
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30. THfd - 8 ®, afc AB||CD, EFLCD § @91 ZGED=126° %, @ ZAGE, ZGEF 1 ZFGE ¥

HITSTT |

A G

<
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'\126°
E
3TH(d - 8

D

fag IS fF ww 5 & 0 1 A0 180° BT 21
reran
fag ifsr f afe @ e gfasse =% ot siifime #or sk 2a €

g (x+y+2)=0 g, @ fag wifve R (x3+y3+z3)=3xyz%\'l

Hfd - 9 H, AABC &1 ¢ AB a1 AC fageii Eqen D 9 o1 T €1 af¢ £ CBE 99 £ BCD
F AT gHfga, fag O W fen €, i fag wifey f -

ZBOC=90°— % ZBAC.
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HTHM - 10 H, AB T WWEEE € T P a1 Q 3uah! faqdia feensti # 59 R & fag § fo S paen
Q fagail A qon B ¥ 99y B 1 WY fF @1 PQ, AB &l @F HHIGHNS ¢ |

P

ST - 10

A~

FHE 9a § f=fafed |®|vgd1|cf||t9|<1 HIfTT :
A(5,0); BB, 2); CO, —5); D(=6,1); E(—4, —4); F2, —3).
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